INTERMEDIATE EXAMINATION-2025
SeXHITSUC UNI&TT—2025

( ANNUAL / @1fte )

Subject:-BIOLOGY (Elective)
fawg:—<ig fagm (Ufew)

LSc. (Theory/AgI<I®)
&l U 1 70+20+6 = 96 favg ®re: 119
Total Questions: 70+20+6 = 96 Subject Code: 119
(@ ;3 'S 15 fie) (e 70 )
[Time : 3 Hours 15 Minutes] [Full Marks:70]

Instructions for the candidates:

1. g¥&rell OMR STv—9aa Yv 397 597 gieasl HHI# (10 3H P1) a9
fered |
Candidates must enter his/her Question Booklet Serial No. (10 Digits) in the
OMR Answer Sheet.

2. gl gererag s Il d & 97V |/

Candidates are required to give their answers in their own words as far as
practicable.

3. e S7Iv &R 9v 3% §Y 8% QUi e #Nd &/

Figures in the right hand margin indicate full marks.
4. go] @l qrTgdE g & fory goEnRigl @l 15 [A9S BT Sad wHT [/ar

TIT

15 minutes of extra time have been allotted for the candidates to read the

questions carefully.

5. I8 797 ghaar & @vsl 4 & - GUe—3 v G-
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This Question booklet divided into two sections, SECTION-A and SECTION-
B.
6. @re—57 7 70 FVGITT FIT & [or7H W [7E] 35 ¥ BT IV & ST &/ 35 g

¥ 3iE)E BT TN & UV FoIH 35 BT & HoldbT BT/ Fedd 97 @& [0 1 3 [T
8/ §9%7 GV 37 @& fory GUcTel #VF T TY OMR SOV—UFF F /U TV el by
@I et /Bl il Y7 F TG BV [¥ H GBIV B FIgeav,/ Vel yarel,/ &S,/ TegT
37f& &I OMR STv—YFE 4 FIIT B H77 & 3] GI&T GRTH SFH &7/

In SECTION- A, there are 70 objective type questions, out of which any 35
questions are to be answered. If more than 35 questions are answered, then
only first 35 answers will be evaluated. Each question carries 1 mark. Darken
the circle with blue/ black ball pen against the correct option on OMR Answer
sheet provided to you. Do not use Whitener /Liquid/Blade/Nail etc. on OMR
Answer Sheet, otherwise the result will be invalid.

7. @US— § H 20 TGITIT Y97 & FAF F [0 2 i [FEIRT &1 o &
&8 10 7o @ GV &1 AT & §Vie SfARNTFT §W9 &UE 7 06 FH
TIIT To7 137 TV & gRAE @ fory 05 3F [T & o & [ 03
e @ GV & Sard &/

In SECTION- B, there are 20 Short Answer Type Questions, Each question

carrying 2 marks, out of which any 10 questions are to be answered. Apart
from these, there are 06 Long Answer Type Questions, each carrying 5 marks,

out of which any 3 questions are to be answered.

8. [ gHIY P FATIEH FYBYT BT FIIT QUTIT aroid &/

Use of any electronic appliances is strictly prohibited.
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Yug — 31/ SECTION-A

IS U2 / Objective Type Questions
g7 GG 1 & 70 GF F H5 & G GV 3By -9 14 & [ @ v wel
&/ 397 FIvT g7 T4 e [AFey & OMR  ¥fic qv [3f27a &Y/ 551 35 757
HT TV &/ 35x 1 =35

Questions Nos. 1 to 70 have four options, out of which only one is correct. You
have to mark your selected option on the OMR-sheet. Answer any 35 questions.

35x1=35
I PR # % B e S @ Ry ¥
» O ® (]
© <> o O—0O

Which of the following is the symbol for mating?

» (O ® (]

© <> ® O—O
2. Fe=ferRad § & @19 1 HERHY f[deR 781 27
(A) ST RigH (B) gargTHeR RigH
(C) TR RigH (D) WSS ISR
Which of the following is not a chromosol disorder?
(A) Down’s syndrome (B) Klinefelter’s syndrome
(C) Turner’s syndrome (D) Phenyl ketonuria
3. Frefalaa o 9 o o= # Arar fayaygmadar urdl S 27?
(A) A= (B) uell
(C) wgAfRgf (D) fdeeht
In which of the following females heterogamety is found?
(A) Humans (B) Birds
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(C) Honey bees (D) Cat
. fawsgmeh dell § i1 dAeror ek BT 8 S9 BB ¢ |

(A) w1l (B) g+l
(C) g ¥ (D) Uiy«
The trait which is expressed in heterozygous plants is known as .......
(A) Dominant (B) Recessive
(C) Codominant (D) Partially dominant
. ABO SRR a1 & foY fdhd= UbR & SiHIergy 87
A) 3 (B) 2
€ 6 (D) 8
How many types of genotypes are there for ABO blood groups?
(A) 3 (B) 2
©) 6 D) 8
. FrfoaRea 5 9 g dsnfe 7 A= J g9m=T?
(A) #ea (B) cdide
(C) ¥e 3R a1 (D) HARE
Which of the following scientists prepared recombination map?
(A) Mendel (B) Sturtevant
(C) Sutton and Boveri (D) Morgan
. UHHPR FHR AR & JMER R NI & DI— b 4§ 4
gfaurfed fbg 3?7
1. gurfaar
2. g fraE
3. @A 3ug B g4 |
(A) % 1 (B) 1w 2
(C) 11Td2 (D) 1,279 3

Which laws of inheritance were propounded on basis of monohybrid?

1. Law of Dominance
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2. Law of Segregation

3. Law of independent assortment.

(A) Only 1 (B) Only 2
©) 1 and 2 (D) 1,2 and 3
8. R TA T H B UTIol DT IURIT BT 87
(A) Ra=t (B) feeifriiRars
(C) STgelrsl (D) Rgefret
Which pentose sugar is present in RNA?
(A) Ribose (B) Deoxyribose
(C) Xylose (D) Ribulose

9. FrefalRed § ¥ 69 HRUEY SITAY. Feell & T U =Y[dedicigs

ool & drE I T QX 97 T 87

(A) AP UlAGFRICISS SET B R BIRBC—IADH 1 Bl
g

(B) <M die=yfacracss Toud! # GEIiRad draIRer gl 2

(C) THI Io9dl § 99 BIggIo dfs @& ARgH A Sile od 8 Wi 9
RR g1 2 |

(D) DNA # =, ugdifi & faudid amar = |

Due to which of the following reasons there is approximately equal

distance maintained between two polynucleotide strands of DNA?

(A) Backbone of each polynucleotide chain is constituted by phosphate
sugar.

(B) Both polynucleotide strands have antiparallel polarity.

(C) The bases in the two strands are paired through hydrogen bonds
forming base pairs.

(D) In DNA purine comes opposite to pyrimidine.

10.fF=forRad & &1 BIF 1 @ | B ReRar @ RO e 87

(A) SITAT & IET oDl Th TR D T ¢ |

Page 5 of 28



(B) SLUAU. # ARHT 69T B |

(C) INTAL H TP Y[deicIss 3f@aRy H US IHT H
2— BTSSRI g &Il B |

(D) ST H W & WIH R AT BT 7 |

Which of the followings is not the reason for stability of DNA?

(A) Both strands of DNA are complementary to each other.

(B) Repair is possible in DNA.

(C) In DNA every nucleotide residue has 2’-hydroxyl group in the
pentose sugar.

(D) Thymine is present in place of uracil in DNA.
11.Us ARy Adimiferd &3 § A= gonfodl & fder &R uhd Us fdg 94

T 3T G-I el d6 TRT 8 B o BT ¢ |
(A) TR (B) Wpfcre =ra—
(C) 3ol fafero (D) S yarg

The process of evolution of different species in a given geographical area

starting from a point and radiating to other geographical areas is known

as.....
(A) Speciation (B) Natural selection
(C) Adaptive radiation (D)  Gene flow

12.fF=faRad § & D9 HUF Siad o IART & IR H 3RI 77
(A) SITURA 3R 8ea™ & ITAR Silad BT Ugell W@wy g4 faermm=

STiae XfRd HTEfE Ul | T gl &1 W ¢ |

(B) Silad & IART & qHY argHed H qad ATaATor T8l o |

(C) YA o AT 45 fAferas af gd 77 e 2

(D) TAER 71 U4 WINT # §< Folep H SRS, A, BISgioi
arIfar derm 800° ¢ A R faga fewarst &1 wanT faar |

Which of the following statements is false about the origin of life?

(A) According to Oparin and Haldane the first form of life would have
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come from pre-existing non-living organic molecules

(B) Free oxygen was not present in atmosphere at the time of origin of
life.

(C) Ifis supposed that earth was formed about 4.5 billion years back.

(D) In his experiment, Miller used oxygen, methane, hydrogen,
ammonia and electric discharge at 800°c temperature in a closed
flask.

13.fr=forad # & fbde gRT S T U fererdl daeiid &1 IRWH

faera foar T ?

(A) ToIH RIS (B) e Rie

(C) dfcHT wg fohw (D) fo®

The DNA finger printing technique was initially developed by who

among the following?

(A) Alec Jeffreys (B) Lalji Singh

(C) Watson and Crick (D) Crick
14.fF=foRed § 9 A Wa R SATGRI A hafuRT § Jedl 57

NERESIE (B) HATAS Wyt

(C) =TS (D) y—si

At which of the following sites the repressor protein binds to lac operon?

(A) 1i-gene (B) Operator region
(C) Promoter (D) y-gene
15.F=1faRad 5 & fovas ufRiffora &1 gfte uss wIfRpeimedl dom g«rasme!

TeleRfed & wU § fhar?

(A) 3FRe I 3R Eas (B) 3lclduiex FalfHT
TR
(C) gai (D) =9
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Who among the following confirmed penicillin as a powerful and

effective antibiotic?

(A)  Ernest chain and (B) Alexander Fleming
Howard Florey
(C) Waksman (D) Babes
16.fF=fRad & & & ATsfed 3l IS BT 87
(A)  TRiCTdaer T (B)  THIRRTe gor
(C) <acrdfera (D) AR ARfaRd

Which of the following produces citric acid?

(A) Acetobacter aceti (B) Aspergillus niger
(C) Lactobacillus (D) Saccharomyces cerevisiae
17.F=fRed 5 9 319 B ERIBET & aN H Tad 87
(A) SHABT SYANT AGH] (B) Iz UfRe MRS &
wpic @ forg fdban wY H PR PHRAT B
STl & |
(C) TE XLLIDhIHA gl (D) I8 U T 7 |
I~ BT & |
Which of the following statements is incorrect about streptokinase?
(A) Itis used as clot buster. (B) It functions as
immunosuppressant.
(C) Itis produced by (D) Itis an enzyme.
streptococcus.
18.f=forRad & & &I BU STshISAl & aR § Toid 87°
(A) IE gRoolifad & © | (B) IE Hfhoiifad Siar]
g
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(C) ¥8d Urey TSI Pl (D) T8/ Hol uRRefd o
EEICRICIRGERERE H HHRIC: UTIT ST
FRE T | =

Which of the following statements is incorrect about Trichoderma?

(A) Itis a free living (B) Itis a free living
fungus. bacterium.

(C) Itis effective biocontrol (D) Usually it is found in
agent of several plant the root ecosystem.
pathogen.

19.FF=11Rad § & DI B DI ATSHRISST AT B 7

(A) T (B) grsehreHm

(C) Ire (D) UIRYeiH

Which of the following fungi terms mycorrhiza?

(A) Glomus (B) Trichoderma

(C) Yeast (D) Penicillium

20X URFTROT DI WISl e di?

(A) Rumms (B) faferaw &rd

(C) SRR (D) s

Who discovered blood circulation?

(A) Hippocrates (B) William Harvey
(C) Landsteiner (D) Einthoven

21.fF=feRad & & 19 AT BT eRIsT b dR H I 27

(A) IT IJATEH % |

(B) ¥& 7% ERT W9 R AT EIDh gRT fordm Sram & |
(C) 3o Hifb & TAifeeliaxer gRT e faram ST 2 |
(D) 39 ®Id i BT T B |

Which of the following statements is false about heroin?
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(A) Itis adepressant.
(B) It is taken by snorting or injection.
(C) Itis obtained by acetylation of morphine.
(D) Itis also called coke.
22 Hferic SR A Mdhelg g1 DIRTHRIT BT Yo & §RT GR—axIol ofdll

-

(A) ¥R (B) dicae sHaIfaNA
(C)  Taserll IRl (D) T S
REIGRYI ICEISE

The spreading of cells from malignant tumors through blood to distance

sites 1s called .....

(A) Metastasis (B) Contact inhibition
(C) Transformation into (D) Uncontrolled cell
neoplastic cells division

23 fA=ferRad § 9 @9 $UF USH @ dR H A ©7
(A) IE UP AU AT & |
(B) IT A SR SBAEN a”RE & BRI il 2 |
(C) TIMSA W Hh¥d Td USH B i8I0 Ube B9 & &I g9
THITRTE 81T & |
(D) USH H AHAT AR H dI—IAIBIIRI Bl FAT H ITRIKR BAI
il © |

Which of the following statements is incorrect about AIDS?

(A) Itisaviral disease.
(B) It is caused by the Human Immuno Deficiency virus.
(C) There is always a time lag between the infection and appearance of

AIDS system.

(D) In AIDS there is progressive decrease in the number of B-
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Lymphocytes in an infected person.

24 fFfeiRad H & | o7 H AAIBTUR BT Ufisi & He URERS
feham BIeil &7

(A)  3rRer Ao (B) emgw

(C) WA RABH 3T (D) fEdre oI 3T
In which of the following organs lymphocytes interact with antigens?
(A) Bone marrow (B) Thymus gland

(C) Primary Lymphoid (D) Secondary Lymphoid

organ organ
25.Fr=1ferfad 5 & I A1 Udh wWufcRer 97 87?

(A) THEIgS SMeRTEiew (B) CTREHES

(C) T=d (D)

Which of the following is an auto immune disease?
(A) Rheumatoid arthritis (B) Typhoid
(C) AIDS (D) Cancer

26.5ERFAU & URMG &A1 & IR Al gRT WA PIARSH 4 (5 UDHR
& wfoRferal @ geRaT 8l 2
(A) IgA B) IgM
© IgaG (D) IgE
Which type of antibodies are abundant in the colostrum secreted by the

mother during the early days of lactation?

(A) IgA (B) IgM
© Iga (D) IgE
27.FrfeiRad § & i g TTerd 87
(A) amfe® uferer — (B) THIRN — TRA
YerHisar feweifafea
(C) WIgRar — geriar (D) XTSMERRA — =gAMT
EREILCIE
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Which of the following pairs is incorrect?

(A) Amebic dysentery — Entamoeba histolytica
(B) Ascariasis — Ascaris
(C) Filaria — Wuchereria bancrofti

(D) Rhino virus — Pneumonia

28 fAferRad # SSwISS @ IR H B HUF [T 77
(A) I Y gRI BICT 2 |
(B) I8 WOR @I gfic 31 died e | 8l § |
(C) 0 AW &1 T 0D I 7 |
(D) 9SG HHAY BT YHATT BIST 37 A Bl 8

Which of the following statements is incorrect about typhoid?

(A) Itis acaused by virus.
(B) The typhoid fever is confirmed by Widal test.
(C) Name of Mary Mallon is associated with it.

(D) Its infection starts in small intestine.

29.%U & Johal HH Bl FRIFT B drel A {69 S §RT heds
B &7

(A) S e [ T (B) o g [ U

(C) S @18 11 & (D) S @18 [ T q1 #1s I1 T&r

The proteins that cotton bollworms are encoded by which genes?

(A) GenecrylAc (B) Gene cry [ Ab

(C) Genecry Il Ab (D) Gene cry I Ac and cry II ab
30.FrEfiRad ¥ 4 B oRugs g § T8 8 &7

(A) TUlU<SS %@l — A (B) UllU<ISS %@l — B

(C) diduerss s@er — C (D) SHHEEhIgE 99

Which of the following is absent in mature insulin?
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(A) Polypeptide chain — A (B) Polypeptide chain — B
(C) Polypeptide chain — C (D) Disulphide bond

31.f=ferRed # | @A |1 gfis ufieq orRes e & Rigia o=
TR 27?

(A) U ¥R (B) uferar

(C)  SegTARITS! (D) 3morfae fram
Which of the following is based on the principle of antigen-antibody
interaction?
(A) PCR (B) ELISA
(C) Ultrasonography (D) Molecular diagnosis

3.7 | AT SBITIRIAT & HHAUT Bl b o F=reriRad H
A {59 aBAIe & TN BT 57

(A)  DICAES W BT STAN (B) 3. TH. U. 3fcRer™
(C) rgdfred wuiaRor (D) A e

Which of the following techniques is used to prevent the infection of

Meloidogyne incognitia in tobacco?

(A)  Use of insecticidal protein (B) RNA interference

(C) Genetic transformation (D) Gene therapy
33.7Mcs W9 H 3 faerie ¥ d9g 27

(A)  fefh— (B)  fef — &

(C) faers = (D) fae= -1

Golden rice is rich in which vitamin?

(A) Vitamin—C (B) Vitamin—-D

(C) Vitamin —K (D) Vitamin—A

34,519 98 HF el | Siar] A1 fawry {6 Heefid @afed # & a9
ITH! ygH fbd qhild H B Aebdl 87
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(A) ¥HE. (IS SHUTH) b
(B) uferr daeid
(C) UILNSIR. §RT SiaT] A1 faw] & el el Bl Haed gRT
(D) THIMRITE.
When very few bacteria or viruses are present in an infected person,
which technique can be used to identify them?
(A) CT (Computed tomography) scan.
(B) ELISA technique
(C) Amplification of nucleic acid of bacteria or virus by PCR
(D) MRI
35929 GHINTSl SLUAE. & 1 fhe STar] & wiisifie & SunT fdaar
o7?
(A) vEIRRRT Biell (B) EMifther
(C) THEEIRTH SHBRITH (D) STHIAT CTEHIRRIA

Plasmid of which bacterium was used for the construction of the first

recombinant DNA?

(A) Escherichia coli (B) Haemophilus

(C)  Agrobacterium tumefaciens (D)Salmonella typhimurium

36.P19 DI FdTgd B A1 Sie b B fbd Tolgd gRT 8idl &7
(A) SITAT GlefRo (B) <& UfeliRet
(C) 9fcey UieiRS (D) SIUAN. dTSI

Which enzyme links the gene to the vector?

(A) DNA polymerase (B) Taq polymerase

(C) Restriction polymerase (D) DNA ligase
37.fr=faRed § | o9 A1 yeH ufidds gegfderst 8?

(A) S®I. 3R I (B) fEs RI

(C) ¥ 1 (D) s TF |
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Which of the following is the first restriction endonuclease?

(A) EcoRI (B) Hind I
(C) Sall (D) BamHI
38.97c1 Ulde BRI H, SLUA.U. s 398 9 59 Toldels & dR% S
g7
(A) A (B) TS
(C) fasfl +ft Telagle ot 3R (D) fHdY Y Telagrs @ 3R 81

In get electrophoresis, DNA fragment move towards which of the

following electrodes?

(A) Cathode (B) Anode

(C) Towards any electrodes (D) Not towards any electrodes
39. FAT Harsd H frefaikad § 4 i fARIvdr &1 ragdedr T8l &7

(A) YIS 31 AR (B) =I9 Ay fUga®

(C) Tl I

(D) THIN & A QT 9949 Yga™ Td dl SURIfT

Which of the following features is not required in a cloning vector?

(A) Origin of replication (B)  Selectable marker

(C) Cloning sites

(D) Always presence of more than one selectable marker

40.FrforRed @ 9 fhaeT JanT ST SIRIersl | 9ifed SiF &I o S 4

fear Sirar 272

(A)  wIeaIRaA cgfAmREE (B) gl arR™

(C) SiF I+ (D) SWad H |
Which of the following is utilised for the transfer of desirable gene into

animal cells?
(A) Agrobacterium tumefaciens (B) Retro virus
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(C) Gene gun (D) All of the above
41.SNT9] BIRIGBT H SILYAY. UG B & (o7 [hg TArsH &1 IuINT
ST 57

(A) el (B) ufdess

(C) dirgwTagH (D) FEEHS
Which enzyme is used to process a bacterial cell to obtain its DNA?
(A) Cellulase (B) Pectinase
(C) Lysozyme (D) Chitinase

42 vfader TRYfderdS @ IR H DI HIH A 2°
(A) YfEY TSgfders (B) Hfddy veIgfderist €.

Th YHR & GollgH 2 | . T Bl fa¥re weraf
W PRI B |
(C) ufdy JeIgfaerst (D) ftEed veIRyfderis
fafiree fergifie SITAY & YaEE &
3TIehHI BT TSI & | feTy SUAT BT § |
Which statement is incorrect about restriction endonuclease?
(A) Restriction (B) Restriction
endonucleases are a type endonucleases cleave
of enzymes. DNA at specific sites
(C)Restriction endonuclease (D) Restriction
sequences in DNA endonuclease is used for
recognizes specific amplification of DNA.
palindromic
43. I AN IS BT T bed & Sl o TSI+ H IIERD ©
(A) S yg=eItTa (B) 3RITOMHA
© g (D) agoT

Page 16 of 28



Which term is used to describe asexual reproduction that mimics sexual

reproduction?

(A) Parthenocarpy (B) Apomixis

(C) Dormancy (D) Polyembryony
44 f=forRed 5 & 59 ®a & e o g &1 qffer 781 57

(A) w9 (B) T

(C) *ERIe (D) THIeR

Thalamus does not play role in the development of which of the
following fruits?
(A) Apple (B) Strawberry
(C) Cashew (D) Tomato
45 f=forRed @ 9 9 991 H Yoy g @RE 9 fAeraeld Yo gRT T8
SUANT AT ST 87
(A) e (B) ¥eh)
(C) <+ (D) ARTe
In which of the following seeds the developing embryo does not

completely consume the endosperm?

(A) Pea (B)  Groundnut
(C) Beana (D) Coconut
46.fF=faRad § & DIF AT ST TAd 27
(A) AT — goI (B) heo™ — U URAR
GRS R
(C) IHI — WA DI D (D) 9qUT &Y — 2 AT 3
Tl DIRTHT

Which of following pairs is incorrect?

(A) Zygote — Embryo (B)  Scutellum — Cotyledon

of grass family
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(C)  Yucca — species of a (D) Embryosac—2or3 -

moth celled
47 ffaRad § 3 fd STeflg Wiy § WRIATOT STl gRT Aa) Il 87
(A) ETgfger (B) SR
(C) dreR rsfber (D) aferaRan

In which Oof the following aquatic plants pollination does not occur

through water?

(A) Hydrilla (B) Zostera
(C) Water Hyacinth (D) Vallisneria

48.Y UTGY & Teb G & URNIHUN BT GAN G4 & afddpril ddb bl

TRITAICRYT T HEATAl 57

(A)  HSITAYSRET (B) SN

(©)  ¥ag (D)  fser
What is the transfer of the pollen grains from one flower to the stigma of

another follower of the same plant called?

(A)  Geitonogamy (B) Xenogamy
(C) Autogamy (D) Fertilisation
49.fr=iforRad # 9 & A1 FUF A7 & qUUI & IR H A6 3 |
(A) U IR TET B TR (B) A ®hicH ¥ B & |
Bl € |
(C) wpicH H 8W ¥ duig | (D) UX% YT H ST 250
quUI T AT ST quoT UTferepTy BNl € |
G H Aeq Al 2 |
Which of the following statements is the about humans testes.
(A) They are situated (B) They are present in
outside the abdominal scrotum.
cavity.
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(C) Being in the scrotum high.
helps in keeping the (D) Each testis has about
temperature of the testis 250 testicular lobules.

50.fr=ifeiRed § 9 o9 1 I Terd 27?

(A)
(B)
©
(D)

TR T DIRTBTE—TIHSINIT

ST

e — sfearfel el @1 e s

ged @l fAfor — war & ) fowrd) & ofd #

Which of following pairs is incorrect?

(A)
(B)
©
(D)

Male germ cells — Spermatogonia
Interstitial cell — Androgens
Fertilisation — Ampullary region of fallopian tube

Formation of heart — By the end of second trimester

51.fF=foRag & 9 &9 A1 B9 98 87

(A)

(B)

©

(D)

YERI[T — URIAS Yeh BIRIBIN — fgdiiad gob BIRrei—

3[HTIgd — YhIY]

o o

I AE ek BIRIBIN — fgdliad eh DIRMBIN — YEHI[GIT —>
AT YT

YHIYE — RIS gh IR — fgdas gw sk —

PTISTT—=3IPT

JHTO[gd —> RIS — TTIHS Yeb BIRTHIN — fgadiad eh
DIRTBIY —TEHIY]

Which of following sequences is correct?

(A)

(B)

Spermatogonia — primary spermatocytes — secondary
spermatocytes — spermatids — spermatozoa
Primary spermatocytes — secondary spermatocytes —

spermatogonia — spermatids — spermatozoa
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(C) Spermatids = primary spermatocytes — secondary spermatocytes
— spermatogonia — spermatozoa
(D) Spermatids — spermatogonia — primary spermatocytes —
secondary spermatocytes — spermatozoa
52,921 ISIEH Th R HEcATdl &7
(A) 3Id =H (B) ISireeE
(C)  oifwgRy (D) T @b

c

What is the first menstrual cycle called?

(A) Menstrual cycle (B) Menarche

(C) Menopause (D) Estrous cycle
53.Fr=ferRad § 9 fhdaT yhaNT ot H 8 drel fAf=T agaRie f[der @l

SURIT T Tar o= | B Siram 272

(A) 931 A (B) THIMRIMS.

(C) YR, (D) vAfERR™

Which of the following is used to detect the presence of various genetic

disorders in the embryo?

(A) C.T. Scan (B) MRI

(C) PCR (D) Amniocentesis
54.FrfaRad § | B9 I B SAETET 9 BT DRI el 27

(A) JIKR ¥ I RREe

(B) A1 FIR R Ry Fge= # o+A

(C) S MY & AN &l =T H gis |

(D) ¥EE® S drenfifear (TamR.al)

Which of the following is not a reason for increasing population of a

country?
(A) Arapid decline in death

rate
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(B) Decline in maternal
mortality and infant

mortality rate

(C) Increase in number of (D) Assisted reproductive
people in reproductive technologies (ART)
age.

55.Fr=feiRed 5 9 B A1 |hAT I FAIRT 57

(A) ZTSHIBIZET (B) fefean

(C) R (D) <TISHIES

Which of the following is infections is sexually transmitted?

(A) Trichophyton (B) Pneumonia

(C) Gonorrhea (D) Typhoid

56.fFr=fRad § ¥ B UA ST H ddd (& IR TSl dal &7

(A) 9 (B) uel

(C) 3™ (D) SR

Which of the following reproduces only once in its lifespan?

(A) Bamboo (B) Birds

(C) Guava (D) Monkeys
57.FrfeRad # | & SAgforar # AFT®T &7 T & & forg wanT

fepar wrar?

(A) Udb YbR BT AT (B) TRy

(C) credreH (D)  JRAaTIRE

Which of the following was used to control opuntia in Australia?

(A) Atype of moth (B) Gambusia

(C) Trichoderma (D) Baculovirus

58.frfalRad & | dF u=R9eTT @ qfAHT T8 87

(A) ol WIFIARY & forg (B)  ReR e &1

G BT BRI ERENECGI]
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(C) il &1 fafaerr (D) i Rer il «
99T I H Heg I gforget &1 dgrET
&R &

Which of the following is not a role predation?

(A) acts as ‘conduits’ for (B) keeps prey population
energy transfer under control

(C) helps in maintaining (D) increases the intensity
species diversity of competition among

competing prey species

59.9% UghH Pl FAT BB © [OTGH U Sl &l JIaal §aRl Siifel Bl
SuRerfa # ae Il &7
(A) i (B) ORWE
(C) wRoNfaar (D) EUHIRT
What is the process called in which of the fitness of one species
decreases in the presence of another species?
(A) Competition (B) Predation
(C) Parasitism (D) Mutualism
60.FATST Sl Ud WYsl TAME & AR &l URWRS fhar g4
[P IQTERTT &7
(A) TR¥ETT (B) HEG&HTRGT
(C) SEHIfsTaT (D) ORoHfaar

The interaction between population of clown fish and sea anemone is an

example of which of the following?
(A) Predation (B) Mutualism

(C) Commensalism (D) Parasitism

61.3MS AT, (2004) & FTAR SISl UG UTGUl I STl DI HE=AT ...,
(A) 15 fafere 9 %o 1S (B) 27 fafere 4 %w 1w

(C) 7 fafera & o1fd® (D) 20 — 25 fHfer=
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The total number of animal and plant species according to [UCN (2024)
is

(A) Slightly more than 1.5 million (B) Slightly more than 2.7 million

(C) More than 7 million (D) 20 — 25 million
62. 2002 ¥ Haq fderd R fIea ReR GFed Fal gar or?
A) Rarfs o¥=r (B) SIEFRE
(€) gdt® (D) uRw
Where was the world summit on sustainable development in 2002 held?
(A) Rio de Janeiro (B) Johannesburg
(C) New York (D) Paris

63.fF=faRaa # & @19 41 o9 fAfduar & WRevr @ fog ge daiviey |
SEDIRC
(A) TP A JIAHwT | AR 3mfdes o™
(B)  uiRa= H Hamwll § 9=

(C)  TRETOT

(D) icaicA®d o™

Which of the following is a narrowly useful argument for conserving
biodiversity?

(A) countless direct economic benefit from nature

(B) major role in ecosystem

(C) pollination

(D) aesthetic pleasures

64.F=feiRad § | I ST Jfficied & $RU I gs?

(A) Tieed TR (B) frafers woferdt

(C) ¥R | T (D) ufdved

Which of the following species became extinct due to over exploitation?
(A) Golden toad (B) Cichlid fishes
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(C) Steller’s sea cow (D) Abingdon
65.9Rd &I dRad i fafqerar feaen g2

(A) 2.4% (B) 8.1%
©) 22% (D) 16%
What is global species diversity of India?
(A) 2.4% B) 8.1%
©) 22% (D) 16%
66.UPTeT HIGUT & QR BT dd Bl IUIGT & Pl T HEd o7
(A) SdTEHA (B) Wdhd WAHD
SAUTqhdl
(C) e W& IATEHA (D) fgfas Scaradmar
What is the rate of production of organic matter during photosynthesis?
(A) Productivity (B) Gross primary
productivity

(C) Net primary productivity
(D) Secondary productivity
67.fFrfalRaa & & o At ufhar sroeues § e T8 2?

(A) "vsq (B) fAetre

(C) Suad (D) gfAfthdee

Which of the following process is not involved in decomposition?

(A) Fragmentation (B) Leaching

(C) Anabolism (D) Humification
68.UTel TehTeT HYATOTcHS fAfhRor &1 =T ufa 807 &xd &7

(A) 50% B) 2-10%

(©) 10% (D)  50% ¥ 1w

What percentage of photosynthetically active radiation do plants

capture?

(A) 50% (B) 2-10%
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(C) 10% (D) more than 50%
69.310%E el sfEen foiad § ¥ feaw gl 87

(A) U RT B HIYUHEG Alhd [AHI0T & Tger 4

(B)  qd PrED ugrd

(C) fedirae A Wefl gRT SMERYfT & 918

(D) TMHIERI SiEl §RT AMERYfT & 918

The detritus food chain begins with which of the following?

(A) with capture of photosynthetically active radiation

(B) with dead organic matter

(C) after feeding by secondary carnivores

(D) after feeding by herbivores
70.Fr=feiRad H | BIF A1 HUF Feell b dR H AT 57

(A) Afgems & for T FRES el

(B) IR WRITSA el

(C) B« H U&H 9R of S areil el

(D) 21 faAi @& AR o S arell Miferdt

Which of the following statements is false about ‘Saheli’?

(A) Contraceptive pill for females

(B) Nun steroidal

(C) “Once a weak’ pill

(D) pills taken continuously for 21 days
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¥uvs—9 / SECTION- B
oY SN 9e / Short Answer Type Question .

o7 GG 1 ¥ 20 75 T &/ [d78) 10 F¥7] & TV &/ AP & [or7 2

s [ &1 10 x 2 = 20
Question Nos. 1 to 20 are Short Answer Type. Answer any 10 questions. Each
question carries 2 marks. 10x 2 =20
1. 9fq= Sua- &1 €,  HEl 4T SiId & 3R Sl Hecd FT &7 2
What are sacred groves, where are they found and what is there
significance?
2. Sl & fRIAS & arar o | 2
Explain the pyramid of energy.
3. WEIYBINGT 9T 8?7 T&TER0 & 1l IRAT o | 2
What is the mutualism? Explain with examples.
4. el srugsi a9 R 8? 2

What is the competitive exclusion principle?

5. vfdEe USI=jfderst &1 AH BT HY &Il 57 2

How is nomenclature of restriction endonucleases done?

6. JAIUATE FATET o 27 2

What is downstream processing?

7. MR R®T 52 2
What are somaclones?

8. TQTERUT & A RISVl Bl I DN | 2
Explain biopiracy with example.

9. UG T &7 2
What are flocks?

10,519 IeReb o7 & AR g9b Al DI &7 2

What is biofertilizer and what are its sources?
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11.BATATSSE o1 87 2
What are cannabinoids?

12.afsha wfeRem @ 2 | 2

Define active immunity.

13.6%IU% JaTE T & | 2
What is founder effect?

14. 99T ST T 87 SeTeR < | 2
What are homologous organs? Give examples

15.“TaauRe Hiader <’ 9T 87 2
What are ‘Expressed sequence Tags’?

16.EHIBITTIT &I AT N | 2
Explain haemophilia.

17.9clell BIRMGIN 1 87 93! JHdT ford | 2
What are Sertoli cells? write down their roles.

18.3TRT & YfABIT a1 72 2
What are roles of placenta?

19,31 Y= a1 27 g {6 Uiy |99g H a1 87 2

What is double fertilisation? in which plant group does it occur?
20.98YCIdT T 8? I&TER T | 2
What is polyembryony? Give example.

gus—d / SECTION- B
<" ST 9% / Short Answer Type Question .

U AT 21 W 26 H SRII 2| P2l 3 Ul & SR 3| TS & oW 5
3 FriRa 2| SR aIead 120 weal § B9 =Ry |

3x5=15

Question Nos. 21 to 26 are Short Answer Type. Answer any 10 questions. Each
question carries 5 marks. Give your answer in about 120 words. 3 X5 =15
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2 1. ORISR FIT 2?7 WRORN & fJhrT T 9oi &Y | 5

What is megasporogenesis? describe the development of megaspore.

22.fferRad W wfere fewfort ford 5
Write short notes on the following :

23.€1UA.Q. Ui BT auid BN | GOIgHl Bl YADBT BT o B | 5
Describe DNA replication. Describe roles of enzymes.

24 fFreferiad uR wfere fewfort ford | 5
Write short notes on the following :

25.3XR BT YiARET JOTeAT &l goid &N | 5

Describe immune system of body.
26.39—IC, EReTU DI URANT X | g9—AIC, TREVT & fory aar fbar
g° 5

Define in situ conservation. What has been done for in situ conservation?

Page 28 of 28



